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TEST CODE CLASS - VI
9802 PART-A : MATHEMATICS ZONE - I

1. The statement : When an integer (except 0) is added 1. &I — 99 Y& YUl (0 & 3feTdl) &I S IUIid H WSl
to itself, the sum is greater than the integer' is : ST &, 1 AT S qc?ﬁiﬁ | 9T BT B |
(1) Always true (1) 939 9T 8
(2) Never true (2) & |1 T T T
(3) I T4 YUiteh dael gATHD ©
(4) True for non-negative integers 4) v afe quifes s—=oes ©
2.  Which of the following is an improper fraction ? 2 f=fafRad § | == Gij%lﬁ i1 g ?

(3) True only when integer is positive

(1) 1/2 (1) 1/2
(2) 3/7 (2) 3/7
(3) 7/3 (3)7/3
4) 3/15 4) 3/15
3. If1/2+ 1/x=2, then x = afg 1/2 + 1/x=2d x =
(1) 2/5 (1)2/5
(2) 5/2 (2) 5/2
(3) 3/2 (3)3/2
4) 2/3 “4) 2/3
4, If1/5-1/6 = 4/x, then x = afd 1/5-1/6 =4/xdAx =
(1) =120 (1) =120
(2) -100 (2) -100
(3) 100 (3) 100
(4) 120 (4) 120

Space for rough work
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S.

What least value should be given to * so that the
number 915*26 is divisible by 9 ?

()1 (2) 4

(3) 2 4) 6

The predecessor of the integer — 1 is
(1) 0 2) 2

(3) -2 4) -4

Statement-I every positive integers always greater

than negative integers

statement-II positive number always left side on

number line

(1) Both statement are true

(2) Both statements are false

(3) Statement I true statement II false

(4) Statement I false statement II true

Statement-I sum of two negative integers are

always greater than both integers

statement-II Difference of any two negative integer

is always greator than both integer

(1) Both statements are true

(2) Both statements are false

(3) Statement II true statement I false

(4) Depend on numeral value in statement II and
statement I is false

TEST CODE
2802
* I S8 <YAATH F&T 91 B Ife A& 915%26, 9 ¥
ffora g €

(1)1 (2) 4
(3) 2 4) 6
~1 &1 udadi! Quiies M

(1)0 () 2
3) -2 4) -4

BHUF-1 TP gATHD YT, YD FUMHS Yol o I

BIeTl &

FUA-I1 TS FAHS YUITeh SHN F&T 3@ TR G} 3R

gl & |

(1) ST HUF T ¢ |

(2) ST HUF I ¢ |

(3) U 1 T &, HU 11 3[ 2 |

(4) BU [ 3T & TAT B 11 I ¢ |

BHUA-1 1 FOMHS YUIhI BT AFTHS THT T qUITdT o

1 BIA & |

HUT 11 1 FOMHD YONID] BT <R THIA S QUIidi 4§

ESIERIES

(1) Sl HUF T ¢ |

(2) ST HUF I ¢ |

(3) U 11 T &, HU 1 3[ 2 |

(4) DU 11 HEATHS A IR fIHR ARl 721 2 1 3 e
g

Space for rough work
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10.

11.

12.

13.

How many centimetres are in one kilometer ? 9.
(1) 100000

(2) 10000

(3) 1000

(4) 100

If 1 is added to the greatest 7-digit number, it 10.

will be equal to
(1) 10 thousand
(2) 1 lakh

(3) 10 lakh

(4) 1 crore

Between 58 and 80 what will be the number of 11.

even number ?

(1) 13 (2) 12
(3) 11 (4) 10
LCM of 20, 15 and 10 is 12.
(1) 60 (2) 180
(3) 90 (4) 30

The largest four digit number using digits 5,9,4 13.

and 8 no one digits comes twice ?
(1) 8945 (2) 9854
(3) 9845 (4) 9954

CLASS - VI

ZONE - 1

% fhelidier # foas dSex gd & ?
(1) 100000

(2) 10000

(3) 1000

(4) 100

7 D D FIH TSI T H TP Sired R YTK =T -6
=l

(1) 10 &R

2) 1 &=

(3) 10 o™

(4) 1 oY1

58 AT 80 & HeY WH &Y fope=l 81N ?

(1) 13 2) 12

(3) 11 (4) 10

20,15 @1 10 .39, 8T

(1) 60 (2) 180

(3) 90 (4) 30

IRI 3fp] B T TSI TT FoTTH 37 5,9,4 AR 8 B T
PIS 3B &I IR &I AT & ?

(1) 8945 (2) 9854

(3) 9845 (4) 9954

Space for rough work
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14. Which of the following is the additive identity 14

element in the set of whole numbers ?
(1) 1
(3) -1

(2) zero
(4) Any number

1
15. The value of 2+ 7

3+
4+l
S
157
(1) 4g @ g
68 21
) 157 ®) 110
16. 3/10 is equal to
(1) 3.1 (2) 1.3
(3) 0.3 (4) 0.03
17. 337.62 + 8.591 + 34.4 =
(1) 371.722 (2) 391.622
(3) 380.611 (4) 463.94
18. 2kg 5 gm is equal to
(1) 2.5 kg (2) 2.05 kg
(3) 2.005 kg “4) 2.6 kg

15.

16.

17.

18.

TEST CODE
2802

qof FR1RTT & AT DI ARTHD $Dhls b1 A1 Fr=Aferfad
q B ?

(1)1 (2) 3
(3) -1 (4) BIg =T
1
2+ T A BT
3+ 1 1
4+—
5
157
1) ¢ (2) &5
68 21
®) 157 ®) 110
3/10 a_ER 8
(1) 3.1 () 1.3
(3) 0.3 (4) 0.03
337.62 + 8.591 + 34.4 =
(1) 371.722 (2) 391.622
(3) 380.611 (4) 463.94
2kg 5 gm SRR B
(1) 2.5 kg (2) 2.05 kg
(3) 2.005 kg (4) 2.6 kg

Space for rough work
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2802

19.

20.

21.

22.

23.

24.

25.

The total cost of Aman's lunch was Rs. 37.5
including taxes. If she gave the cashier Rs. 45
and also paid Rs. 0.45 for carry bag how much
he received ?

(1) Rs. 12 (2) Rs. 7

(3) Rs. 7.05 (4) Rs. 7.50
Predecessor of which two digit number has single
digit.

(1) 10 (2) 9

3) 0 “4) 11

The line on which we represent the natural
number is known as

(1) Number line

(2) Counting line

(3) Digit line

(4) Zero line

The number of primes between 80 and 100 is
(1) O (21

(3) 2 4) 3

How many even prime numbers ?

(1) Zero 21

(3) 2 (4) Infiinite

Which one of the following is a prime number ?
(1) 161 (2) 221

(3) 373 (4) 437

Which one of the following numbers is divisible
by 3 ?

(1) 27236 (2) 42356

(3) 73545 (4) 45326

19.

20.

21.

22.

23.

24.

25.

ZONE - I
3 9 @1 PR |fed fbAd 37.5 FU B | IHT DRI
BT 45 HUY BT YIAH BT, T DY TS 0.45 FUY I
P fpan a1 S g: fras S0 9T gy ?

(1) 12 S5 (2) 7 T
(3) 7.05 TR (4) 7.50 ©UY
for 1 3id ) e B ydadt A= Ud i Pl Bl 7

(1) 10 (2) 9
30 4) 11

Qe N1 o7 UR AT Eeiall b1 UefRid foan i 8 weerr
&

(1) S ¥@n

(2) IO =T

(3) 3@ @

(4) < xen

80 3R 100 & HeY 9T TV foel 8 ?
(1) o 2) 1
(3)2 “4) 3
fopd= 9 1T |1 B 8 P

(1) T3 (2) 1

(3) 2 (4) eFa
o H | PN TP TS TR P
(1) 161 (2) 221
(3) 373 (4) 437

Pt 91 SRR S 3 & g Rifd B & ?

(1) 27236
(3) 73545

(2) 42356
(4) 45326

Space for rough work
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26.

27.

28.

29.

Tecno'23

TALENT EXPLORING CLC
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Direction
equation became incorrect due to the interchange
of two signs. One of the four alternatives under it
specifies the interchanges of signs in the equation
which when made will make the equation correct.
Find the correct alternative.
5+3x8-12+4=3

(1) + and -
(3) + and x
Direction :

(2) — and +

(4) + and +
In the following question a series is
given, with one term missing. Choose the correct
alternative from the given ones that will complete

the series

SHG, RIF, QJE, PKD ?

(1) NME (2) NLB
(3) OLE (4) OLC

Direction : In the following letter series, some of 28.

the letters are missing which are given in that
order as one of the alternatives below it. Choose
the correct alternative.

__aba___ ba__ab
(1) abbba (2) abbab
(3) baabb (4) bbaba

X introduces Y saying, "He is the husband of the
grand daughter of the father of my father." How
is Y related to X ?
(1) Brother

(3) Brother-in-law

(2) Son
(4) Nephew

PART-B : MENTAL ABILITY TEST

27.

29.

TEST CODE
2802

: In the following question, the given 26. fad¥ : f=faRed wem 4, & a1 ¥iaR 1 el &

I H & UR ITeid oIl © | 39 dgd aR fadeal § |
TP FHIHIO § Ghdl @ SV dl fAfde oxar g ot
I UR FHIDRUT BT LT 491 <7 | e fade @i |

5+3x8-12+4=3

(1) + 3R - (2) - 3R +

(3) + 3R x (4) + 3R =

forder : frafoaRad wea 7 vo sigen 61 % 2, foed wo ug
J« g | oy Y e & 4 98 92 e g S siwen
DI QR DN |

SHG, RIF, QJE, PKD ?

(1) NME (2) NLB

(3) OLE (4) OLC

forder : frforReaa s1eR sfwren 4, B R Mg & S S
m¥ H A QY ¢ faweni § 9 ue & wu A Ry v 2 | |9
fawea @1 =TT o |

_ _aba___ ba__ab
(1) abbba (2) abbab
(3) baabb (4) bbaba

X, Y @1 I8 Hedl gy U=y <ai g, "9 W i & e 3
g HT U 1" Y, X 9 f5d yor wefda 22

(1) #r$

(3) dTett

(2) de1
(4) fcroT, /ST

Space for rough work

6
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TEST CODE CLASS - VI

2802 ZONE - I

30. Direction : Following question consists of a set of 30. ¥ : fAfaRaa U H A B X, YR ZH1uah e 2
three figures X, Y and Z showing a sequence of ST BT & U g‘c@ P HIew BT hH 90T 8 | 7 VARSES

folding of apiece of paper. Figure (Z) shows the Wﬁmﬁ%mﬁﬁégmiﬁmw%lﬁéﬁ?
manner in which the folded paper has been cut. MPHIATT & 918 AR IR AT & FTTH & D! U I
These three figures are followed by four answer GTTTf?T @Trﬁ g GTTTf?T (Z) & UHc 9 9 999 AfAH
figures from which you have to choose a figure ﬁ?l?ﬁ—@?ﬁﬂﬁl

which would most closely resemble the unfolded

form of figure (Z).
Choose a figure which would most closely resemble T VAT STSHf g W1 MM (Z2) & Gol ©U ¥ Fad D

the unfolded form of Figure (Z). fAedi—gerch 2 |
35 |\
1 4
X X
S < %o .9 % J]| [Po < Oo < S0 .9 g < Vo 9
o R0 N o° o 0,0 N oo
o o KA ° o o INE 0%
b 9 %9 b 5% b 4 b 9 %9 [ b 4
(1) (2) (3) (4) (1) (2) (3) (4)

31. Which of the answer figures will complete the given 31. ®IH—d1 STR—{ & M #fgaa—fam o gof v ?
matrix figure ?

(1) (2) (3) (4) (1) (2) (3) (4)

Space for rough work
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32. Rasik walks 20 m North. Then he turns right and 32.

33.

34.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

walks 30m. Then he turns right and walks 35m.
Then he turns left and walks 15m.Then he again
turns left and walks 15m. In which direction and
how many metres away is he from his original
position ?

(1) 15 metres West

(2) 30 metres East

(3) 30 metres West

(4) 45 metres East

Direction :- A bigger cubes of 9x9x9 cm size is
coloured all surface with green. After that it is
cut into three inches small cubes. Give the
following answer?

Total number of small cubes are?

(1) 27 (2) 729

(3) 216 (4) 36

Which digit will be on the opposite surface of 5? 34.

&7

)1
(4) 6or 4 or 3

(1) 4
(3) 2

33.

TEST CODE
2802

I 20 HIeX IR B R FoAd 2 | R a8 T g1 B
3R 309! Ferar € | fhR a8 R gedl & 3R 357 =efdl 2 |
O a8 arf Jed1 B 3R 159 Forar 8 | R ag R & 9
S & 3R 15 31 =eT ¢ | T8 U 9 o119 9 oo famm 4
3R fre Hiex o g8 W 22

(1) 15 #Hiex ufee™

(2) 30 #rex gd

(3) 30 #iex ufeeH

(4) 45 #reR gd

frder ;- 9x9x9 JH ATHR & TP 98 T BT 8 9 | I
TR | S 918 3 A 59 & BI T H B a1 Sran g |
frfafaa SR <2

A BIC G B HET 2P

(1) 27 (2) 729

(3) 216 (4) 36
frafaRead d 5 @ fauia wdg sd oIfig?

&

2 1
(4) 6T 4T3

(1) 4
(3) 2

Space for rough work

8
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TEST CODE CLASS - VI

2802 ZONE - I
35. Direction : Choose the venn diagram which best 35. forder : g8 99 s iﬁf SIRESE: Ry v = AT Bl
illustrates the three given classes in question FatTd w9 ¥ STl € |
Mercury, Mars, Planets g4, HId, T8

o -® O &
O O O O

(3) O (4) ) O (4)

36. Direction : Choose the venn diagram which best 36. fidel : a8 a7 av@ g+ I w4 4 Ry 7g A a1 @I
illustrates the three given classes in question HITH ©Y | A1 8 |
Citizens, Educated, Men riRe, fRifard, gou

o @ -0 -@
O O O O

(3) O (4) ) O (4)

37. If P denotes +, Q denotes x , R denotes + and S 37. Ife P @ =, QErﬁ x, R®I + 3RS &l —, goriarg, o 18

deontes -, then what is the value of Q 12P 4R 5 S 6 &AM AT BIFIT?
18Q 12P4R5S67?

(1) 53 (2) 59 (1) 53 (2) 59

(3) 63 (4) 65 (3) 63 (4) 65

Space for rough work
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39.

40.

¥

Pointing to a man in a photograph, a woman said, 38.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

"His brother's father is the only son of the my
grandfather". How is the woman related to the
man in the photograph ?

(1) Mother (2) Aunt

(3) Sister (4) Daughter

Direction : Which of the answer figures is exactly
the mirror image of the given figure, when the
mirror is held on the line AB?

Question figure:

A
WATER

B
(1) SELAW (2) gaLaw
(3) gataw (4) gaLam

Direction : Each of the following question consists
of a set of three figures X, Y and Z showing a
sequence of folding of apiece of paper. Figure (Z)
shows the manner in which the folded paper has
been cut. These three figures are followed by four
answer figures from which you have to choose a
figure which would most closely resemble the
unfolded form of figure (Z).

Choose a figure which would most closely resemble
the unfolded form of Figure (Z).

R =

X Y Z

T 523 5= s
(1) (2) (3) (4)

39.

40.

TEST CODE
2802

UEh TR H T ATGH @l 3R $ART GA gY, U Alel o
BT, "D AR B O W ST B FHA 9 T | Bt H
AEST BT YoU | T GY 8P

(1) =@ (2) =r=h/Ar

(3) & 4) 9

e ;99 gUv 1 a1 AB WR X1 I B, o BT SR
il €1 1 | il o1 feger gdor ufafesg g 2

U 3fpfal:
A
WATER
B
(1) AELAW (2) saLaw
(3) ssaTAW (4) gaLlam

e« fe=forRad wed 5 9 8l X, Y 8iR Z &1 Uop 9e B
N BT & U ShS B Alew &1 % <2ic 2 | o () S5
TP Bl T & RTAH IS gL DRI DI PIeT T 8 | 57
ATHRI g1 8 I MBI (Z) & Tde ®U A FIH 31D
fArerf—gger 21 |

TH T ST g T MY (2) B ol wU | FaH AP
e —gerch & |

S RENE

X Y Z

T 52 52 B
(1) (2) (3) 4

Space for rough work
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41. We can define electric current by : 41. &9 faerg a1 31 fbd U uR¥INT o= Fad B -
Mo=n @1-2 @1-% @V=3 Mo=n @1-2 @1-% @V=3
42. Fuse is most important safety device, used for 42. WS HH Hsmq\ui GRETT SYDNT] g Rgersmm . 9w
protecting the circuits from : gRuet &I g9 & forg fovan St &
(1) Short circuiting and overloading (1) 2 AfHIET &R sfrarafST
(2) Over loading and earthing (2) AR AT &R arfdf
(3) Earthing only (3) Dadt 3rffT
(4) Short circuiting, overloading & earthing (4) 9T afepfe, sfaranfeT &R arfdf
43. Filament of a torch bulb is : 43, rd & ged BT e € :
(1) a metal case (1) Teb &1 T SMTAXTT
(2) metal tip at the centre of the base (2) IR & B | grq Bl B
(3) two thick wire (3) /T A AR
(4) a thin wire (4) T Udlefl AR
44. What is the path of light : 44, YT &1 9 1 E ¢
(1) zig-zag (2) straight line (1) <TT—HgT (2) e HE™
(3) depends on medium (4) Not define (3) e wR AR (4) smufwria
45. A fish sees the face of scuba diver through a their 45. Téb H@ell U goigel §IRI hal MAMER BT ST Sl 8,
bubble. Compared to the face of the diver, the MATER B <R B Gl § §RT ST S drell gfifaed g
image seen by the fish will be : :
(1) Smaller and erect  (2) Smaller and inverted (1) BIST 3R e (2) BITT 3R Il
(3) Large and erect (4) Cannot predict (3) ST 31k e (4) ST ST DR Febell
46. Which one is an example of mode of transport 46. @Wﬂﬂiﬁqﬁaﬁiﬁ HETH HT IETERY DA T :
used on land :
(1) ship (2) aeroplane (1) terd (2) gaTS STErsl
(3) train (4) None of these (3) YT (4) 39 A IS T
47. Smallest unit of mass is ? 47. THHEE P I B 's’?hTs: g?
(1) Kilogram (kg) (2) Miligram (mg) (1) frarm (kg) (2) U™ (mg)
(3) Gram (g) (4) Tonne (t) (3) 74 (g) (4) =T (1)

Space for rough work
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48. Match the following column

NATIONAL OLYMPIAD

Column-A Column-B
(A) Velocity
(B) Distance

(C) Least count

()

(ii) Scalar quantity

Vector quantity

(iii) Minimum amount that
can be measured by a
device
(D) Motion (iv) state of moving objects
(1) A-i, B-ii, CHiii, D-iv
(2) A-i, B-iii, C-iv, D-ii
(3) A-iv, B-iii, C-i, D-ii
(4) A-ii, B-iv, C—iii, D—i

49. In which of the following circuit A, B & C. Given a

figure, the cell will be used up very rapidly ?

-

TEST CODE
2802
48. W @1 e ST
TH-A W -B

(A) I (i) <fee afy

(B) X1 (i) orfewr =if¥

(C) 3reucHih (iii) =g 9131 O g IGO0

ETRT /19T ST Heball 2 |
(D) 7fay (iv) TIfcFa= axgeti @ Rerfdy

(1) A-i, B-ii, C-iii, D-iv

(2) A-i, B-iii, C—iv, D-ii

(3) A-iv, Biii, C~i, D—ii

(4) A-ii, B-iv, C—iii, D

ferafafaa aRuer A, B 3R C d o199 aRur § ¥ Wea] 81
URT ST B SIRAT ?

49.

A A
(1) A (2) B (3) C 4)B&C (1) A (2) B (3) C 4)B&C
50. There is a mistake in the given classification table: 50. & T BT dTfeTenT | U Tefahl B |
Non-conductor of Conductor of fagra & faeg @
Electricity Electricity REICE EIRCH
Wool Copper > GIEN
Cotton Brass HUTH LIRS
Plastic Iron AR D I
Cork Steel DD I
Graphite Silver DRSS CIC
Which of the following is placed incorrectly in the ferferfRad # & fodt Tera Wiﬁ HI@ T E
groups.
(1) Wool (2) Graphite (1) oA (2) IBIge
(3) Iron (4) Silver (3) <rE (4) T
Space for rough work
12
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51. Which one of the following is not soluble in water: 51.
(1) Stones (2) Salt
(3) Sugar (4) Glucose

52.

53.

54.

55.

56.

Which of the following is not used for making
cooking utensils :

(1) Aluminium (2) Steel

(3) Lead (4) Silver

Find the odd one out from the following :

(1) Gold (2) Aluminium

(3) Silver (4) Sand

The clothes are made up of thinner and thinner
strands called :

(1) Yam (2) Thread

(3) Fibre (4) Fabric

Which of the following fibres contains protein
units in their molecules :

(1) Rayone (2) Jute

(3) Polyester (4) Silk

Name materials which are non-conductor of
electricity :

(1) Plastic and Gold

(2) Dry wood and Rubber

(3) Dry wood and Silver

(4) Gold and Silver

PART-D : CHEMISTRY

53.

56.

CLASS - VI

ZONE - 1

frferRad # w5t #§ goeid 8l 2 ¢

(1) TR (2) D
(3) AN (4) gD
. Fr=feRaa & & frder ST @™ 9™ @ 909 99 B
Wﬁﬁ»‘mm%:
(1) Tegfafae (2) et
(3) s (4) =<
ferforRaa & | faws &1 gar o] -
(1) & (2) gegfaf
(3) =l (4) e

. HUS Ud 3R Udel g | 99 81 8, e P8l 9l ®

(1) xeirey,
(3) =m

(2) 79
(4) @USI

. Prefofad 4 1 R X9 S sl § B garedt B # -

(1) Xf (2) S
(3) dfefeeex (4) Xar
ueref & A Sl fagd & @Ened ¢

(1) wnRed a |
(2) g Dbl g Ve
(3) ! oIps! g =l
(4) | @ AT
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Y. CcLC TEST CODE

%\ Tecno'23 2802

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

57. A mixture of ammonium chloride and sand is 57. M TIRIgS MR ¥d & A0 BT 7 fobar Sram 2 -
separated by :

(1) evaporation (1) arsfiepRor
(2) decantation (2) e
(3) sublimation (3) Sedura=
(4) filtration (4) Freaea
58. Which of the following process can be used to 58. A8/ d mﬁmﬁ Pl 3T B B forg fafaRad # & fos
separate impurities form mixture ? Ui &1 SUATT fpar oar § 2
(a) Magnetic sepration (b) Threshing (a) W’JE{W"T (b) AR
(c) Digestion (d) Photosynthesis (c) gra= (d) TBT HITTOT
(e) Evoparation (f) Distillation (e) ATHIHIOT (f) o
(1) only a, b and ¢ (1) daaT a, b T ¢
(2) only b, ¢ and d (2) daa b, ¢ qAT d
(3) only a, b, e and f (3) ad a, b, e TATf
(4) only a, b, ¢, d and f (4) dad a, b, ¢, d TTf
59. The separation of insoluble solids from liquids can 59. 3T 314 &1 Gai H JAFHRYT a1 S Fhel ¢
be done by :
(1) sedimentation (1) 3faEra
(2) decantation (2) =R
(3) loading (3) =ifS
(4) All of these (4) SR 9
60. An example of a Heterogensis mixture is ? 60. fauHRN 8101 BT Ue ITER & ?
(1) fresh air (1) TSl gar
(2) fresh water (2) TSI aTH
(3) sugar solution (3) AN BT U=
(4) dirty water (4) I=_T U

Space for rough work
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61. Which one is the best for health ? 61. ¥R & foTQ HaH 3BT DI A & ?
(1) boiled seeds (1) 39l gY 41
(2) roasted seeds (2) Hﬁ gy EiS|
(3) wet swollen seeds (3) et et gY I
(4) sprouted seeds (4) BRIt
62. Potato, Wheat, Rice are source of : 62. 3Te, T, Tad fordd JA B
(1) Carbohydrates (1) drafEgge
(2) Minerals (2) @
(3) Vitamin A (3) faerf = A
(4) Fat (4) T
63. Which one provides immediate energy : 63. Al Udh g Sofl UG SRl &
(1) Glucose (1) IS
(2) Starch (2) werd
(3) Protein (3) U
(4) Fat (4) T
64. keep our eye and skin healthy : 64. AR 3TRE Td @l Pl @R & B
(1) Vitamin A (1) faerf = A
(2) Vitamin C (2) faerfé= C
(3) Vitamin D (3) e\ D
(4) Vitamin E (4) e E
65. The part of the plant which prevents soil erosion is 65. Uigl &1 g8 AT W1 9T RS DI AT § P
?
(1) Stem (1) <=1
(2) Flower (2) 9w
(3) Root (3) Sfs
(4) Leaves (4) ufcrt

Space for rough work
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Y. CcLC

¥

66.

67.

68.

69.

70.

Tecno'23

TALENT EXPLORING CLC
NATIONAL OLYMPIAD

The presence of a thick and hard stem is a feature 66.

of :
(1) Herb
(2) Shrub
(3) Climber
(4) Tree

Nutrients required for growth and maintenance of 67.

body :

(1) Proteins and Minerals

(2) Carbohydrates and Fats

(3) Proteins and Carbohydrates

(4) All of these

Bone and tooth decay is due to lack of :
(1) Calcium

(2) Vitamin A

(3) Vitamin C

(4) Fat

The following parts of banana plant are used as 69.

food :

(1) Fruit, stem, flower
(2) leaf, stem, fruit

(3) root, fruits, flower
(4) flower, root, stem

The example of spices which we get from plants ? 70.

(1) Cinnamon, Cardamom
(2) Clove, Chili

(3) Pepper, Cumin

(4) All of the above

68.

TEST CODE
2802

AT 3R IRed I ) SulRerfey P UP fAATar 2

(1) w1 g1

(2) s

(3) ot

(4) 78

IR @ g SR IERWTE & oY e Urye aed

(1) W 3R Gt

(2) BrafEIRST AR =1

(3) WIS iR FrEiEISSe

(4) SuRIET T4

TSl 3R & & fhdd! HHl & BRI EA ¢ -
(1) dfeer™

(2) faerfim A

(3) et = C

(4) T

Pl B WY B FFAfTRad AT HISE @ wU H S9AT fhy Sd
2

(1) e, T, T

(2) o<Hl, I, Bl

(3) ST$, W, g

(4) g™, Sfe, a1

AT BT SETERYT &, Sl &4 Ulel o UT< 81 © ?
(1) ST, AT

(2) i, fod

(3) Bret i, ST

(4) SuRIET T4
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Class - 6th | Paper Code : 2802

PART-A: PART-B: PART-C: PART-D: PART-E :
MATHEMATICS MAT PHYSICS CHEMISTRY BIOLOGY
Q.No. [ Ans | Q.No.| Ans | Q.No.| Ans | Q.No. | Ans | Q.No.| Ans
1 34 26 2 41 2 51 1 61 4
2 3 27 4 42 1 52 3 62 1
3 4 28 2 43 4 53 4 63 1
4 4 29 3 44 2 54 3 64 1
5 2 30 2 45 1 55 4 65 3
6 3 31 4 46 3 56 2 66 4
7 3 32 4 47 2 57 3 67 4
8 4 33 2 48 1 58 3 68 1
9 1 34 4 49 1 59 2 69 2
10 4 35 4 50 2 60 4 70 4
11 4 36 4

12 1 37 1

13 2 38 3

14 2 39 3

15 3 40 2

16 3

17 3

18 3

19 3

20 1

21 1

22 4

23 2

24 3

25 3
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